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PARALLELOGRAMS

1. Prove that any two adjacent angles of a

parallelogram are supplementary .


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MLLRVvmeoJMK

° Watch Video Solution

2. Two adjacent angles of a parallelogram are

as 2: 3. Find the measures of all the angles.

o Watch Video Solution

3. In the adjoining figure, ABCD is a
parallelogram in which ZA = 75° Find the

measure of each of the angles /B, Z/C and


https://dl.doubtnut.com/l/_MLLRVvmeoJMK
https://dl.doubtnut.com/l/_83DiGRE4DqhB
https://dl.doubtnut.com/l/_nzOsNuYDIDlj

/D

° Watch Video Solution

4. In the adjoining figure, ABCD is a
parallelogram in which /BAD = 75° and

/DBC = 60° .Calculate ()ZCDB and (i)


https://dl.doubtnut.com/l/_nzOsNuYDIDlj
https://dl.doubtnut.com/l/_Su0jOKNL3KgE

/ZADB

° Watch Video Solution

5. In the adjoining figure , ABCD is a

parallelogram in which

/CAD = 40°, /BAC = 35° and


https://dl.doubtnut.com/l/_Su0jOKNL3KgE
https://dl.doubtnut.com/l/_G3QctFzoRyGE

/COD = 65° Calculate: () ZABD (ii))2BDC

(iii)ZACB (iv) ZCBD
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o Watch Video Solution

6. In the adjoining figure, ABCD is a
parallelogram , AO and BO are the bisectors of

/A and /B respectively. Prove that


https://dl.doubtnut.com/l/_G3QctFzoRyGE
https://dl.doubtnut.com/l/_1wL5NhwgD0O1

ZAOB = 90°.

o Watch Video Solution

7. The ratio of two sides of a parallelogram is
4:3. if its perimeter is 56 cm, find the lengths

of longer side.

A.16 cm


https://dl.doubtnut.com/l/_1wL5NhwgD0O1
https://dl.doubtnut.com/l/_Z3iuV2djCEE0

B.8 cm

C.12 cm

D. none of these

Answer: A

o Watch Video Solution

8. The length of a rectangle is 8 cm and each
of its diagonals measures 10 cm. Find its

breadth.

I o Watch Video Solution


https://dl.doubtnut.com/l/_Z3iuV2djCEE0
https://dl.doubtnut.com/l/_tLUwFHcGH9je

9. In the adjacent figure , ABCD is a rhombus
whose diagonals AC and BD intersect at a
point O. If side AB=10 cm and diagonal BD=16

cm, find the length of diagonal AC.

o Watch Video Solution



https://dl.doubtnut.com/l/_tLUwFHcGH9je
https://dl.doubtnut.com/l/_1ZEu6fzSyj6Y

Exercise 16 A

1. ABCD is a parallelogram in which
/A = 110° Find the measure of each of the

angles /B, Z/C and ZD.

o Watch Video Solution

2. Two adjacent angles of a parallelogram are

equal. What is the measure of each?


https://dl.doubtnut.com/l/_1ZEu6fzSyj6Y
https://dl.doubtnut.com/l/_yeH2WJ91CfyC
https://dl.doubtnut.com/l/_JkZr1xuCA9vd

A. 80°

B.90°

C.70°

D.60°

Answer: B

o Watch Video Solution

3. Two adjacent angles of a parallelograms are
in the ratio 4:5. Find the measure of each of its

angles.


https://dl.doubtnut.com/l/_JkZr1xuCA9vd
https://dl.doubtnut.com/l/_3LKMenvjUvK8

A.70°,110°,70°, 110°

B.60°, 120°, 60°, 120°

C.80°,100°, 80°, 100°

D.50°,130°, 50°, 130°

Answer: C

o Watch Video Solution

4. Two adjacent angles of a parallelograms are

(3z —4)° and (3z + 16)° . Find the value of


https://dl.doubtnut.com/l/_3LKMenvjUvK8
https://dl.doubtnut.com/l/_RlUL3BseeN4J

x and hence find the measure of each of its

angles.

° Watch Video Solution

5. The sum of two opposite angles of a
parallelogram is 150, so the measure of each

of the other two angles is

° Watch Video Solution



https://dl.doubtnut.com/l/_RlUL3BseeN4J
https://dl.doubtnut.com/l/_O3im2Osi1txk

6. Two sides of a parallelogram are in the ratio
5:3. If its perimeter is 64 cm, find the lengths

of its sides.

o Watch Video Solution

7. The perimeter of a parallelogram is 140cm .
If one of the sides is longer than the other by

10 cm, find the length of each of its sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_QtMqtexB5NfQ
https://dl.doubtnut.com/l/_pchEOCsFPJhS
https://dl.doubtnut.com/l/_hnzemfdJtdX6

8 In Figure, ABCD is a rectangle.
BM and DN are perpendicular  from

B and D respectively on AC . Prove that

MBC = DNA (i) BM = DN

o Watch Video Solution

9. In the adjacent figure , ABCD is a
parallelogram and line segments AE and CF

bisect the angles A and C respectively . Show


https://dl.doubtnut.com/l/_hnzemfdJtdX6
https://dl.doubtnut.com/l/_uvSqKLCKXz1E

that AE | | CF.

D E C

° Watch Video Solution

10. The lengths of the diagonals of a rhombus
are 16 cm and 12 cm respectively . Find the

length of each of its sides.



https://dl.doubtnut.com/l/_uvSqKLCKXz1E
https://dl.doubtnut.com/l/_9BBEE0iK42tq

\ ° Watch Video Solution

11. In the given figure ABCD is a square . Find

the measure of ZC' AD.

D

A B

I o Watch Video Solution


https://dl.doubtnut.com/l/_9BBEE0iK42tq
https://dl.doubtnut.com/l/_Kblyfb1SFKD2

12. The sides of a rectangle are in the ratio 5 :
4 and its perimeter is 90 cm. Find its length

and breadth.

o Watch Video Solution

13. Name each of the following parallelograms.
The diagonals are equal and the adjacent

sides are unequal .

o Watch Video Solution



https://dl.doubtnut.com/l/_Kblyfb1SFKD2
https://dl.doubtnut.com/l/_yhpVdhbjYXY6
https://dl.doubtnut.com/l/_We6aONvKUU90

14. Name each of the following parallelograms.
The diagonals are equal and the adjacent

sides are equal .

o Watch Video Solution

15. Name each of the following parallelograms.
The diagonals are unequal and the adjacent

sides are equal .

o Watch Video Solution



https://dl.doubtnut.com/l/_We6aONvKUU90
https://dl.doubtnut.com/l/_vfwXNnNGtr1e
https://dl.doubtnut.com/l/_GLdnErpwEbtI

16. Name each of the following parallelograms.

All the sides are equal and one angle is 60°.

° Watch Video Solution

17. Name each of the following parallelograms.

All the sides are equal and one angle is 90°.

o Watch Video Solution



https://dl.doubtnut.com/l/_1EfZprFd3WEI
https://dl.doubtnut.com/l/_y6lN9WugK1DN

18. Name each of the following parallelograms.
All the angles are equal and the adjacent sides

are unequal .

o Watch Video Solution

19. The diagonals of a parallelograms are equal

° Watch Video Solution



https://dl.doubtnut.com/l/_QdQKRnhjmjt9
https://dl.doubtnut.com/l/_EoLFNVFr0dGi

20. Which of the following statements are true
and which are false ?
The diagonals of a rectangle are perpendicular

to each other.

° Watch Video Solution

21. Which of the following statements are true
and which are false ?

The diagonals of a rhombus are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_Kj6GWk2F6eBR
https://dl.doubtnut.com/l/_u8G61tsNmUkB

22. Which of the following statements are true
and which are false ?

Every rhombus is a kite.

° Watch Video Solution

23. Which of the following statements are true
and which are false ?

Every rectangle is a square

° Watch Video Solution



https://dl.doubtnut.com/l/_u8G61tsNmUkB
https://dl.doubtnut.com/l/_IIPla9V9O0W6
https://dl.doubtnut.com/l/_as2U6LBlb3ey

24. Which of the following statements are true
and which are false ?

Every square is a parallelogram.

o Watch Video Solution

25.

Is Every square a rhombus.

A. no

B. yes


https://dl.doubtnut.com/l/_tNiXs4ZdGH0d
https://dl.doubtnut.com/l/_lW9bMN4Fsd9f

C. insufficient information

D. none of the above

Answer: B

° Watch Video Solution

26. Which of the following statements are true
and which are false ?

Every parallelogram is a rectangle .

° Watch Video Solution



https://dl.doubtnut.com/l/_lW9bMN4Fsd9f
https://dl.doubtnut.com/l/_qb2hslBtPQGU

27. Which of the following statements are true
and which are false ?

Every parallelogram is a rectangle.

o Watch Video Solution

28. Which of the following statements are true
and which are false ?

Every rhombus is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_YOZB46h8dJwR
https://dl.doubtnut.com/l/_F1OTill7Ls9G

Exercise 16 B

1. The two diagonals are not necessarily equal

ina

A. rectangle

B. square

C.rhombus

D. isosceles trapezium

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aV5YPKucQhj8

2. The lengths of the diagonals of a rhombus

are 16 cm and 12 cm . The length of each side

of the rhombus is

A. 8cm

B.9cm

C.10 cm

D.12 cm

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_aV5YPKucQhj8
https://dl.doubtnut.com/l/_4jvruEkxdAKw

3. Two adjacent angles of a parallelograms are
(2z 4+ 25)° and (3 — 5)° . The value of x is
A. 28
B.32
C.36

D.42

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4jvruEkxdAKw
https://dl.doubtnut.com/l/_l8XF92rfSHCl

4. The diagonals do not necessarily intersect

at right angles in a

A. parallelogram

B. square

C.rhombus

D. kite

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_l8XF92rfSHCl
https://dl.doubtnut.com/l/_wCA4wUcU4x8U

5.The length and breadth of a rectangle are in

the ratio 4:3. If the diagonal measures 25 cm

then the perimeter of the rectangle is

A. 56 cm

B. 60 cm

C.70cm

D. 80 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sPU3iayjsrgG

6. The bisectors of any two adjacent angles of

a parallelogram intersect at

A.30°

B.45°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9C1ocRyDLoKo
https://dl.doubtnut.com/l/_1p0FTNa6mcuN

7. If an angle of a parallelogram is two-thirds

of its adjacent angle, the smallest angle of the

parallelogram is

A.54°

B.72°

C.81°

D. 108°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1p0FTNa6mcuN
https://dl.doubtnut.com/l/_Eja3YkgynIw7

8. The diagonals do not necessarily bisect the

interior angles at the vertices in a

A.rectangle

B. square

C.rhombus

D. all of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Eja3YkgynIw7

9. In a square ABCD, AB=(2x+3) cm and BC=(3x-

5) cm . Then , the value of x is

A4

B.5

C.6

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oHPMnCIoBBm2
https://dl.doubtnut.com/l/_UU9GlzvOm9RS

10. If one angle of a parallelogram is 24° less

than twice the smallest angle then the largest

angle of the parallelogram is

A.68°

B.102°

C.112°

D.176°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UU9GlzvOm9RS




